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207 ROl 250,000 0 250,000
s 175,000
Al 75,000
01 289 250,000 0 250,000
[ 52 ASAEAANY JEHELYRY
250,000,000& * 14! 250,000
s 175,000
Al 75,000
307 glz2tol & 23,600 0 23,600
05 RIZt2E = 23,600 0 23,600
0 =& MESEEHAAY FECE AHH(AlH]) 23,600
O M22F A (4UE2E Z&)
3,000,000& = 1H » 20 & 6,000
O APR2 QIAd(4UEE &)
2,200,000 * 498 = 2J4& 17,600
401 AIEHI L 2 CHYI 1,150,000 0 1,150,000
s 805,000
Al 345,000
01 A& Hl 1,145,860 0 1,145,860
0 s& MEdsdAME
1,145,860,000& * 14 1,145,860
s 805,000
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fA: AL Z AL
My 4)|E2 SEME JUIY
©9 SEIBAL B5.HH . RKL )
SN EE B (BN) - HRAY - BAS il H D = 2t
Al 340,860
03 AlIE& =2 HH 4,140 0 4,140
0 =& MEEEHAMZ
1,150,000,000& * 0.36/100 4,140
48U =E NI 900,513 580,000 320,513
= 447,500
Al 453,013
NS 2gig=a 900,513 580,000 320,513
== 447,500
Al 453,013
Otsetd, M2, s22LH S 880,513 560,000 320,513
< 437,500
Al 443,013
401 AIEHIZ 28I 880,513 560,000 320,513
< 437,500
Al 443,013
01 Al &t 875,000 560,000 315,000
O OEE M1 &S5 =2 Bl 3 At
40,000,000 * 14 40,000
< 20,000
Al 20,000
[0 OLZE o1l B2HI3A € AHEH SA
60,000,000 * 14 60,000
< 30,000
Al 30,000
OoHgH &H1el OS2 sth=2ZHI3A
70,000,000 * 14 70,000
< 35,000
Al 35,000
0 2Ed 28l 288 HMEFHSA
70,000,000 * 14| 70,000
< 35,000
Al 35,000
0O S4&H oloj2] AFHFBIS A
50,000,000 * 14| 50,000
< 25,000
Al 25,000
O &M 3gel S22 NEEHSA
200,000,000 * 14 200,000
< 100,000
Al 100,000
0 748 2 A4E0S tH=2F 8IS At
100,000,000 * 14 100,000
< 50,000
Al 50,000
O e =822 FUHYAIL X SA
30,000,000 * 14| 30,000
< 15,000
Al 15,000
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M AL AD
M ZEUs NGHeg
Sl X RENLEA CEEEED
SA - BB B () - MM - BES Ol &t o San HmEET
O ¢dss 2Hel0tS o2 ZFHISA
55,000,000 * 14! 55,000
< 27,500
Al 27,500
[ 225 22 N& 202234
200,000,000 * 14l 200,000
< 100,000
Al 100,000
03 A& S THHI 5,513 0 5,513
O AIE 20l 875,000,000 * 0.63/100 5,513
THANEE A2 20,000 20,000 0
< 10,000
Al 10,000
401 AIEHI L 2 CHYI 20,000 20,000 0
< 10,000
Al 10,000
01 A& HI 20,000 20,000 0
O ZAHAMES S22 20,000,000 * 14 20,000
< 10,000
Al 10,000
DdeESHO AI£E2 deEd TA 5,770,010 6,128,980 358,970
MHNO SABA RELE 5,770,010 6,128,980 358,970
2ot TAAHEE 66,320 66,200 120
201 Let2d] 21,280 21,680 A 400
01 AR 22| 20,880 21,280 A 400
0 et=2H| 18,000
O EAHE 28 A2 308
2,000,000& = 2JH Ak = 33l 12,000
O ZAHE 23 2223 & 2UE 52
20,0003 * 908 * 23| 3,600
O HEFAMRIIN 228 7Y
300,000& = 204 43| 2,400
O =&l 2,880
O gt TAAHE HREFA
8,000& = 3 * 120 2,880
02 2324l 400 400 0
03322 2 WA 400
O Uet=EZ A HES3IHl  400,000& * 13 400
202 odl 9,040 8,520 520
01 = LH o4 1l 9,040 8,520 520
O SAHE 2 HAAAHE QIR B XNE 9,040
O ZU(ZAIHE L AAAE &K, &3
xl) 20,0003 = 4H » 93¢ 7,440
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EXN: AA T Al
M ORZ2ESTA AIE2 AMEH T A
et AR CABA RELEY (B9 ®R)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
O 22 (T AI22IHE H2EE9)
80,000& x 4¥H x 53] 1,600
207 S0 | 36,000 36,000 0
02 & AHJH Y| 36,000 36,000 0
[0 TAHE ZBEXMH 0B ¥ &HH RAEx 2
& 36,000,000& = 14! 36,000
SCAHERARE S 24 18,000 18,000 0
201 et 9| 15,120 15,120 0]
01 AFR 2t 2| H| 15,120 15,120 0
0 eg+g 15,120
O EAMHERARSG Alo4E
70,000& = 18Y * 123 15,120
301 et A =2 2,880 2,880 0
09 SHAIAHI X & 2 2,880 2,880 0
O #AAH 2 A3 2,880
O 39 Mzl AKX SAHZ2
8,000& * 30¥ * 123 2,880
2&8 TAIZ2IHE (MAL) =824 650,000 600,000 50,000
401 Al HI L £ 0HHI 650,000 600,000 50,000
01 A&l 650,000 600, 000 50,000
[0 SAIE2AHE L T AIZ22HE HH 29
300,000,000& = {14l 300,000
O EXNENYEI 2529
350,000,000& = {14l 350,000
AIJES DS T A 5,025,690 5,431,980 A 406,290
201 LBt Y| 7,840 9,840 A 2,000
01 AP 22| d| 7,840 9,840 A 2,000
[ Sl 7,840
O SAMNE g2=x=X
8,000& * 4% x 120¢ 3,840
O BMHE g MEsDE
2,000,000 = 13| 2,000
O RHEER NWESD MNEZ2DE
2,000,000 = 13| 2,000
202 044 5,600 8,640 A 3,040
01 2L Y| 5,600 8,640 N 3,040
O SANEY & sXHe #& &0l 5,600
O 2N (axyH) 20,000 = 4% » 30¢ 2,400
O 22 (g2l 80,000& * 4% x 10¢ 3,200
401 Al HI L 204 HI 5,012,250 5,413,500 A 401,250
01 Al&H| 5,000,000 5,400,000 A 400,000
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EXN: AA T Al
Ha: HE2HAH(HE T AID)
ch: JI24dd| (2 &HH)
SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
O #HHANEREE *¢
10,000& = 165 = 128 1,920
O #3ARE 2¢ 50,000 * 5& x 43| 1,000
O 2= E0N 82 10,0008 = 508 * 33 1,500
O 2= Hal ol 10,000 » 208 * 8= 1,600
O - g2x 7
20,000& = 10 * 12& 2,400
202 o4l 8,780 10,920 N2,140
01 2Ll 8,780 10,920 A2,140
0O 39, s, A&F &4
80,000& x 26Y =« 23| 4,160
0 282250 4,620,000& = 1A 4,620
203 €2 F=&d| 8,100 8,100 0
01 JI22HEYFF&AH| 3,300 3,300 0
[0 A8t =2 & 3,300,000& = 1H 3,300
04 EASHEIRFAH| 4,800 4,800 0
[ A& AlD 400,000€ * 12€ 4,800
204 2242 H| 5,400 5,400 0
01 M Z AR AHH| 5,400 5,400 0
[0 A48t =2 & 350,0008 = 12€ 4,200
] HAE Al DHE 100,000 = 12& 1,200
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